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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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SECTION A

Q1. Tt # @ e &t & 150 el # T Hhifu ;

Explain the following in about 150 words each :

(a)

(b)

(c)

(d)

(e)

Q2. (a)

(b)

(c)
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Non-Verbal Communication

%14 St <l TUIEET Sl THIfad A 9T 92
Factors Affecting Quality of Work Life
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Transformational Leadership
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Sources of Resistance to Change
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Power and Authority
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“The environment is a major contingency for which an organisation

must plan and to which it must adapt.” Explain.
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Discuss the important structural dimensions of organisations.
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“Rules are different from norms.” In the light of this statement, explain
the importance of rules and norms from the organisational design

perspective.
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“An organisation without goals is like a rudderless ship.” Comment and
explain the importance of goals. 20
(b) U TS & foIu e =k ugfa i waromn % IR Ug srafifEd sl @
HHHATRT |
Explain the objectives and the phases involved in establishing a Quality
Circle system for an organisation. 20
(¢)  “Sfess dr=amd Fifis g & o 2 # 17 fa=m fifs |
“Organic structures are opposite to mechanistic structures.” Discuss. 10
Q4. (a) EHIET 5 qgEfd # fFa TR =& e sen § v 9w & &9 3
IR fShaT ST ekl R |
Explain how promotion can be used as a tool to enhance job
performance. 10
(b)  3MYFh T § egrIes favawur 6 w1 yEfieRa 2 2 SRR % g
TSI ! HHFATST |
What is the relevance of Transactional Analysis in modern
organisations ? Explain the key types of transactions. 20
(c) Hqged % 9¥-aed fagia i 398 wrig Igea Aferdl 1 aviw Hifdm |
Describe the Path-Goal theory of leadership and its associated
leadership styles. 20
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Explain the following in about 150 words each : 10x5=50
(a) ESdlcl S ATaATE=<]
Strike vs. Lockout 10
(b)  TAsuTET gery
Performance Management 10
(¢) v&9 T SR i GewTiidr =1 g9
Philosophy of Workers’ Participation in Management 10
(d) fenfies dey % &
Scope of Industrial Relations 10
(e) &\ JFufedfa
Labour Absenteeism 10
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Q6. (a)
(b)
(c)
Q7. (a)
(b)
(c)
Q8. (a)

(b)

(e)

HXS-B-LOMA

URTET % HE™ Ud YRl o1 duiH hifa |

Describe the importance and types of training.
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What is a good job description ? List some methods of collecting
job description information.
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What is Placement ? Explain the components of an Employee Induction
Programme.
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“Different types of tests are used in the selection of employees.” Discuss.
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Discuss the implications of Maslow’s need hierarchy theory and

Herzberg’s two-factor theory in relation to employee motivation and
compensation.
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Differentiate between the traditional and modern methods of
Performance Appraisal.
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“Trade unions are an impediment to the growth of industry.” Do you
agree ? Critically evaluate the role of trade unions in the present
context.
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“Industrial conflict is basically a struggle between management and
workers.” Examine this statement.
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What is the importance of industrial relations ? Explain how Industrial
Relations (IR) can be enhanced in organisations.
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